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Chapter 14
Chapter Assessment
ANSWER KEY  


Chapter 8 
Chapter Test A

Multiple Choice

1.
A
2.
D
3.
C
4.
A
5.
B
6.
B
7.
B
8.
C
9.
C
10.
D
Modified True/False

11.
F, decreased
12.
F, more
13.
F, rapid
14.
F, more
15.
T
Completion

16.
growth rate
17.
replacement
18.
Developed
19.
wealth gap
20.
emerging
Short Answer

21
Negative impact:  Urban density can lead to pollution hotspots.  Positive impact: Urban density relieves pressure on nearby ecosystems.
22.
Sample: A region may have more females than males because many males emigrate to find work.
23.
It is a model that explains how industrialized nations change from high birthrates and death rates to a condition of low birthrates and death rates.
24.
Sample: A woman’s education followed closely by her economic autonomy, access to birth control, poverty, wealth
25.
supplying enough food, water, jobs and resources to provide for all the people
Other

26.
Human population increased slowly and steadily for thousands of years, but in the last few hundred years, the population has increased very rapidly.
27.
Sample: Human population will continue to grow and exceed 7 billion rather quickly, as industrialization continues and death rates continue to fall around the globe.
28.
Point C, due to the Industrial Revolution
29.
A large portion of the human population died due to the bubonic plague.
30.
Their ecological footprint was probably small because humans were just beginning to develop agriculture and had not yet moved toward industrialization.
Essay 

31.
Sample: The Industrial Revolution has had the largest impact on the size of the human population. The Industrial Revolution led to improvements in sanitation, medical technology, synthetic chemicals, and even agriculture. These changes helped limit the spread and effects of disease and allowed people to grow more food. The result was a rapid increase in world population growth. (Although the human population is still increasing, the rate of growth now is actually decreasing.)
32.
In ecological terms, the human population distribution is clumped, rather than random or uniform. This uneven distribution means that some areas bear more of an environmental impact than others. For example, many people are clustered along rivers, and some rivers, such as the Yellow River in China, have been negatively affected by clustered human populations and their pollution. Sometimes, people try to live in areas that really cannot support them. In parts of the Middle East, some grasslands have been so overfarmed that they have become deserts.
33.
 Historically, people tended to have  many children, so total fertility rates were high. Recently, total fertility rates have started to drop in many countries, because more women are having fewer children. This change is due to a few reasons. In the past, people had many children to ensure that at least some would survive childhood. Today almost all children survive childhood, so people feel it is not necessary to have so many children. Another reason people historically had many children was to have extra help with farm work and in caring for the parents as they got older. However, today, modern machinery has made farm work more efficient, and government programs help support older adults, which is another factor influencing people to have fewer children. Additionally, in some nations, such as China, there are policies that limit the number of children a family may have.
34.
When a population has a high proportion of older people, it benefits because older people can serve as productive volunteers in the community and care for younger children. Free child care enables more women of reproductive age to work outside the home and make money, which is good for the whole economy.  The drawback of having a higher proportion of older people is that there can be a drain on a society’s financial resources if too many of those older people require care.  This puts pressure on working–age people to support both the very young and the very old.
35.
Sample: I think the United States is in the post-industrial stage. In the U.S., both birthrates and death rates are low. The total population is one of the largest in the world. The population has not yet declined, but its growth has stabilized. Furthermore, the United States has been industrialized for years and has transitioned into an information- and service-based economy.
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